C:# Division With Tape Diagram Name:

Solve each problem. Answers
1) A clown needed {forty-nine} balloonsfor aparty he was going to, but the balloons only
came in packs of {three}. How many packs of balloons would he need to buy? 1
49
r A N 2
el
3.
2) A movie store had { fifty} moviesthey were putting on { three} shelves. If the owner 4
wanted to make sure each shelf had the same number of movies how many more movies
would he need? 5
50 '
/\
r N
6.
v
3) Billy wastrying to beat his old score of {thirty-two} pointsin avideo game. If he scores
exactly {seven} points each round, how many rounds would he need to play to beat his old
score?
32
AN
r N
| | | | | |
4) Carol had {thirty-six} photosto put into a photo album. If each page holds { seven} photos,
how many full pages will she have?
36
VAN
r N
| | | | | |
5) It takes{eight} applesto make an apple pie. If achef bought {forty-three} apples, the last
pie would need how many more apples?
43
AN
r A
| | | | | I
6) A botanist picked {fifty} flowers. She wanted to put them into {four} bouquets with the
same number of flowersin each. How many more should she pick so she doesn't have any
extra?
50
AN
r N
[ s e v s
1-6 |83]|67]50[33][17] 0 |
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C:# Division With Tape Diagram Name:

Answer Key

Solve each problem.

1) A clown needed {forty-nine} balloons for a party he was going to, but the balloons only
came in packs of {three}. How many packs of balloons would he need to buy?

49

2) A movie store had { fifty} moviesthey were putting on { three} shelves. If the owner
wanted to make sure each shelf had the same number of movies how many more movies
would he need?

3) Billy wastrying to beat his old score of {thirty-two} pointsin avideo game. If he scores

exactly {seven} points each round, how many rounds would he need to play to beat his old

score?

32

AN
r A

4) Carol had {thirty-six} photosto put into a photo album. If each page holds { seven} photos,

how many full pages will she have?

36
AN

5) It takes{eight} applesto make an apple pie. If achef bought {forty-three} apples, the last

pie would need how many more apples?

43

N
r N

6) A botanist picked {fifty} flowers. She wanted to put them into {four} bouquets with the

same number of flowersin each. How many more should she pick so she doesn't have any

extra?

N
r R

Answers
1 17
2 1
3 )
4 )
5 )
6 2
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C:# Division With Tape Diagram Name:

Solve each problem. Answers
1) Paul wanted to give each of his{seven} friends an equal amount of candy. At the store he
bought { thirty-six} piecestotal to give to them. He many more pieces should he have 1
bought so he didn't have any extra?
36 2
N\
r N
| | | | | R d
2) A flash drive could hold {three} gigs of data. If you needed to store { twenty-nine} gigs, 4
how many flash drive would you need?
29 5
r A
. & & @ @ & [ | 6
3) Cody hasto sell {thirty-three} chocolate barsto win atrip. If each box contains { six}
chocolate bars, how many boxes will he need to sell to win the trip?
33
AN
r N
4) Atthecarnival, {eight} friends bought {twenty-seven} tickets. If they wanted to split all
the tickets so each friend got the same amount, how many more tickets would they need to
buy?
27
AN
r N
5) A post office has{thirty-six} pieces of junk mail they want to split evenly between { eight}
mail trucks. How many extra pieces of junk mail will they have if they give each truck the
same amount?
36
AN
r A
6) Anindustrial machine can make {thirty} crayonsaday. If each box of crayons has {four}
crayonsin it, how many full boxes does the machine make a day?
30
AN
r N
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C:# Division With Tape Diagram Name: Answer Key

Solve each problem. Answers
1) Paul wanted to give each of his{seven} friends an equal amount of candy. At the store he
bought { thirty-six} piecestotal to give to them. He many more pieces should he have 1 6
bought so he didn't have any extra?
36 2 10
N\
r N
| | | | | R | 3 6
2) A flash drive could hold {three} gigs of data. If you needed to store { twenty-nine} gigs, 4 5
how many flash drive would you need?
29
y 5, 4
r A
. & & @ @ & [ | 6 7

3) Cody hasto sell {thirty-three} chocolate barsto win atrip. If each box contains { six}
chocolate bars, how many boxes will he need to sell to win the trip?

33
AN

4) Atthecarnival, {eight} friends bought {twenty-seven} tickets. If they wanted to split all
the tickets so each friend got the same amount, how many more tickets would they need to
buy?

27

VAN
r A\

5) A post office has {thirty-six} pieces of junk mail they want to split evenly between { eight}
mail trucks. How many extra pieces of junk mail will they have if they give each truck the
same amount?

36

N
r N

6) Anindustrial machine can make {thirty} crayonsaday. If each box of crayons has {four}
crayonsin it, how many full boxes does the machine make a day?

30
AN
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[ M ath ] www.CommonCoreSheets.com




C:# Division With Tape Diagram Name:

Solve each problem. Answers

1) It takes{three} grams of plastic to make aruler. If acompany had { nineteen} grams of
plastic, how many entire rulers could they make? 1

19
N\

2) Oliviais making bead necklaces. She wants to use { thirty-eight} beadsto make {four} 4
necklaces. If she wants each necklace to have the same number of beads, how many beads
will she have |eft over?

AN
r A

- 1 ° 1 |

3) A new video game console needs {two} computer chips. If amachine can create { thirty-
five} computer chips a day, how many video game consoles can be created in aday?

35

4) A school had {twenty-seven} students sign up for the trivia teams. If they wanted to have
{four} team, with the same number of students on each team, how many more students
would need to sign up?

27

VAN
r A\

5) A coat factory had {thirty} coats. If they wanted to put them into {nine} boxes, with the
same number of coats in each box, how many extra coats would they have left over?

30

N
r N

6) Haley had {fifty-three} photosto put into a photo album. If each page holds {six} photos,
how many full pages will she have?
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C:# Division With Tape Diagram Name: Answer Key

Solve each problem. Answers
1) It takes{three} grams of plastic to make aruler. If acompany had { nineteen} grams of
plastic, how many entire rulers could they make? 1 6
19
- / 5 2 2
| | | | | | |
77777 3, 17
2) Oliviais making bead necklaces. She wants to use { thirty-eight} beadsto make {four} A 1
necklaces. If she wants each necklace to have the same number of beads, how many beads
will she have left over? 3
5.
38
r A N
6. 8

- 1 ° 1 |

3) A new video game console needs {two} computer chips. If amachine can create { thirty-
five} computer chips a day, how many video game consoles can be created in aday?

35

4) A school had {twenty-seven} students sign up for the trivia teams. If they wanted to have
{four} team, with the same number of students on each team, how many more students
would need to sign up?

27

VAN
r A\

5) A coat factory had {thirty} coats. If they wanted to put them into {nine} boxes, with the
same number of coats in each box, how many extra coats would they have left over?

30

N
r N

6) Haley had {fifty-three} photosto put into a photo album. If each page holds {six} photos,
how many full pages will she have?
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C:# Division With Tape Diagram Name:

Solve each problem. Answers

1) A coat factory had { forty-seven} coats. If they wanted to put them into {three} boxes, with
the same number of coats in each box, how many extra coats would they have left over? 1.

a7

2) A truck can hold {six} boxes. If you needed to move { twenty-two} boxes acrosstown, how || 4
many trips would you need to make?

22
A 5.

3) Janet had {forty-one} songs on her mp3 player. If she wanted to put the songs equally into
{eight} different playlists, how many songs would she have |eft over?

41
AN

4) A cafeteriawas putting milk cartons into stacks. They had { twenty-three} cartons and were
putting them into stacks with {four} cartonsin each stack. How many full stacks could they
make?

AN
r A\

5) Adamistrying to earn {twenty-six} dollarsfor some new toys. If he charges { eight}
dollarsto mow alawn, how many lawns will he need to mow to earn the money?

26

N
r N

6) Theroller coaster at the state fair costs {two} tickets per ride. If you had {forty-three}
tickets, how many tickets would you have left if you rode it as many times as you could?

43
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C:# Division With Tape Diagram Name: Answer Key

Solve each problem. Answers
1) A coat factory had {forty-seven} coats. If they wanted to put them into { three} boxes, with
the same number of coats in each box, how many extra coats would they have left over? 1. 2
47
- N N 2. 4
,,,,, ; 1
2) A truck can hold {six} boxes. If you needed to move { twenty-two} boxes acrosstown, how || 4 5
many trips would you need to make?
22
X 5, 4
r N
| | | | | 6 1

3) Janet had {forty-one} songs on her mp3 player. If she wanted to put the songs equally into
{eight} different playlists, how many songs would she have |eft over?

41
AN

4) A cafeteriawas putting milk cartons into stacks. They had { twenty-three} cartons and were
putting them into stacks with {four} cartonsin each stack. How many full stacks could they
make?

AN
r A\

5) Adamistrying to earn {twenty-six} dollarsfor some new toys. If he charges { eight}
dollarsto mow alawn, how many lawns will he need to mow to earn the money?

26

N
r N

6) Theroller coaster at the state fair costs {two} tickets per ride. If you had {forty-three}
tickets, how many tickets would you have left if you rode it as many times as you could?

43
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C:# Division With Tape Diagram Name:

Solve each problem. Answers
1) A new video game console needs { five} computer chips. If amachine can create { thirty-
one} computer chips aday, how many video game consoles can be created in aday? 1
31
r A 3 2
3.
2) Rachel received {forty-four} dollarsfor her birthday. Later she found some toys that cost 4
{seven} dollars each. How much money would she have left if she bought as many as she
could?
a4 5.
VAN
r N
1 T T T T T )
3) A botanist picked {fifty-three} flowers. She wanted to put them into {six} bouquets with
the same number of flowersin each. How many more should she pick so she doesn't have
any extra?
53
AN
r N
4) Paul's dad bought {fifty} meters of string. If he wanted to cut the string into pieces with
each piece being {three} meterslong, how many full sized pieces could he make?
50
/\
r N
5) Atthecarnival, {two} friends bought {forty-nine} tickets. If they wanted to split all the
tickets so each friend got the same amount, how many more tickets would they need to
buy?
49
AN
r N
6) A school had {forty-seven} students sign up for the triviateams. If they wanted to have
{five} team, with the same number of students on each team, how many more students
would need to sign up?
47
AN
r N
1-6 |83]|67]50[33][17] 0 |
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C:# Division With Tape Diagram Name: Answer Key

Solve each problem. Answers
1) A new video game console needs { five} computer chips. If amachine can create { thirty-
one} computer chips aday, how many video game consoles can be created in a day? 1 6
31
- / S 2 2
| | | | | | B
3 1
2) Rachel received {forty-four} dollarsfor her birthday. Later she found some toys that cost 4 16
{seven} dollars each. How much money would she have left if she bought as many as she
could? 1
5.
44
r /\ N
6 3

| | | | | | |

3) A botanist picked {fifty-three} flowers. She wanted to put them into {six} bouquets with
the same number of flowersin each. How many more should she pick so she doesn't have
any extra?

r A

4) Paul's dad bought {fifty} meters of string. If he wanted to cut the string into pieces with
each piece being {three} meterslong, how many full sized pieces could he make?

50

5) Atthecarniva, {two} friends bought {forty-nine} tickets. If they wanted to split all the
tickets so each friend got the same amount, how many more tickets would they need to
buy?

6) A school had {forty-seven} students sign up for the triviateams. If they wanted to have
{five} team, with the same number of students on each team, how many more students
would need to sign up?

N
r R

............

[ M ath ] www.CommonCoreSheets.com

5 1-6 |83]|67]50[33][17] 0 |




C:# Division With Tape Diagram Name:

Solve each problem. Answers
1) Debby is making bead necklaces. She wants to use { forty-nine} beads to make { two}
necklaces. If she wants each necklace to have the same number of beads, how many beads || 1.
will she have left over?
49 2
N\
r N
HNEEEEEEEEEEEEEEEEEEEEE. 3
2) Atthecarnival, {nine} friends bought {twenty-three} tickets. If they wanted to split al the |[ 4
tickets so each friend got the same amount, how many more tickets would they need to
buy? 5
23 '
VAN
r A
| | | &
3) A cafeteriawas putting milk cartons into stacks. They had {forty-six} cartons and were
putting them into stacks with {three} cartonsin each stack. How many full stacks could
they make?
46
AN
r N
4) George had {thirty-one} pieces of candy. If he wants to split the candy into { seven} bags
with the same amount of candy in each bag, how many more pieces would he need to make
sure each bag had the same amount?
31
/\
r N
5) There are {twenty-five} students going to atrivia competition. If each school van can hold
{two} students, how many vans will they need?
25
AN
r A
6) Anairline has{forty-four} pieces of luggage to put away. If each luggage compartment
will hold { eight} pieces of luggage, how many will be in the compartment that isn't full?
44
AN
r N
1-6 |83]|67]50[33][17] 0 |
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C:# Division With Tape Diagram Name: Answer Key
Solve each problem. Answers

1) Debby is making bead necklaces. She wants to use { forty-nine} beads to make { two}
necklaces. If she wants each necklace to have the same number of beads, how many beads || 1. 1
will she have left over?

49 2 4
N\
r N
HNEEEEEEEEEEEEEEEEEEEEE. 3 15
2) Atthecarnival, {nine} friends bought {twenty-three} tickets. If they wanted to split al the |[ 4 4
tickets so each friend got the same amount, how many more tickets would they need to
buy? 13
5.
23
VAN
S D 6. 4

3) A cafeteriawas putting milk cartons into stacks. They had {forty-six} cartons and were
putting them into stacks with {three} cartonsin each stack. How many full stacks could
they make?

VAN
r A

4) George had {thirty-one} pieces of candy. If he wants to split the candy into { seven} bags
with the same amount of candy in each bag, how many more pieces would he need to make
sure each bag had the same amount?

31

VAN
r B

-------------------------

5) There are {twenty-five} students going to atrivia competition. If each school van can hold
{two} students, how many vans will they need?

25
r N

6) Anairline has{forty-four} pieces of luggage to put away. If each luggage compartment
will hold { eight} pieces of luggage, how many will be in the compartment that isn't full?

44
N\
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C:# Division With Tape Diagram Name:

Solve each problem. Answers

1) A movie store had { thirty-one} movies they were putting on { eight} shelves. If the owner
wanted to make sure each shelf had the same number of movies how many more movies 1
would he need?

31 2

N\
s A

| | | | B 3

2) There are {fifty-three} students going to atrivia competition. If each school van can hold 4
{six} students, how many vanswill they need?

53

3) A baker had {five} boxes for donuts. He ended up making { twenty-three} donuts and
splitting them evenly between the boxes. How many extra donuts did he end up with?

23
VAN

4) A clown needed {twenty-four} balloons for a party he was going to, but the balloons only
came in packs of {five}. How many packs of balloons would he need to buy?

24
AN

5) Adam wastrying to beat his old score of {forty-nine} pointsin avideo game. If he scores
exactly {three} points each round, how many rounds would he need to play to beat his old
score?

6) Oliviahad {twenty-nine} songs on her mp3 player. If she wanted to put the songs equally
into {four} different playlists, how many songs would she have |eft over?

29
N\
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C:# Division With Tape Diagram Name: Answer Key

Solve each problem. Answers
1) A movie store had { thirty-one} movies they were putting on { eight} shelves. If the owner
wanted to make sure each shelf had the same number of movies how many more movies 1. 1
would he need?
31 2 9
AN
r N
| | | I 3 3
2) There are {fifty-three} students going to atrivia competition. If each school van can hold 4 5
{six} students, how many vanswill they need?
53
>: 5 17
r N
| | | | | | | | | | 6 1

3) A baker had {five} boxes for donuts. He ended up making { twenty-three} donuts and
splitting them evenly between the boxes. How many extra donuts did he end up with?

23
VAN

4) A clown needed {twenty-four} balloons for a party he was going to, but the balloons only
came in packs of {five}. How many packs of balloons would he need to buy?

24
AN

5) Adam wastrying to beat his old score of {forty-nine} pointsin avideo game. If he scores
exactly {three} points each round, how many rounds would he need to play to beat his old
score?

6) Oliviahad {twenty-nine} songs on her mp3 player. If she wanted to put the songs equally
into {four} different playlists, how many songs would she have |eft over?

29
N\
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C:# Division With Tape Diagram Name:

Solve each problem. Answers

1) A flash drive could hold {five} gigs of data. If you needed to store {forty-three} gigs, how
many flash drive would you need? 1

2) Rachel had {thirty} pennies. She wanted to place the penniesinto {four} stacks, with the 4
same amount in each stack. How many more pennies would she need so al the stacks
would be equal ?

AN
r A\

| | | | | | | |

3) A truck can hold {two} boxes. If you needed to move { forty-seven} boxes across town,
how many trips would you need to make?

a7

4) Theroller coaster at the state fair costs { four} tickets per ride. If you had { twenty-nine}
tickets, how many tickets would you have left if you rode it as many times as you could?

29
AN

5) Anindustrial machine can make { thirty-two} crayonsaday. If each box of crayons has
{nine} crayonsin it, how many full boxes does the machine make a day?

32

VAN
r N

6) A baker had {nine} boxes for donuts. He ended up making { thirty-two} donuts and
splitting them evenly between the boxes. How many extra donuts did he end up with?

32
AN
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C:# Division With Tape Diagram Name: Answer Key

Solve each problem. Answers
1) A flash drive could hold {five} gigs of data. If you needed to store {forty-three} gigs, how
many flash drive would you need? 1 9
43
- / 5 2 2
| | | | | | | | | |
3 24
2) Rachel had {thirty} pennies. She wanted to place the penniesinto {four} stacks, with the 4 1
same amount in each stack. How many more pennies would she need so al the stacks
would be equal ? 3
5.
30
r /\ A
_______________ | 6. &)

| | | | | | | |

3) A truck can hold {two} boxes. If you needed to move { forty-seven} boxes across town,
how many trips would you need to make?

a7

4) Theroller coaster at the state fair costs { four} tickets per ride. If you had { twenty-nine}
tickets, how many tickets would you have left if you rode it as many times as you could?

29
AN

5) Anindustrial machine can make { thirty-two} crayonsaday. If each box of crayons has
{nine} crayonsin it, how many full boxes does the machine make a day?

32

VAN
r N

6) A baker had {nine} boxes for donuts. He ended up making { thirty-two} donuts and
splitting them evenly between the boxes. How many extra donuts did he end up with?

32
AN

8 1-6 |83]|67]50[33][17] 0 |
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C:# Division With Tape Diagram Name:

Solve each problem.

1) Atthecarniva, {seven} friends bought { fifty-five} tickets. If they wanted to split all the
tickets so each friend got the same amount, how many more tickets would they need to
buy?

AN
s A

"""""" T
| | | | | | | | i
L.

2) A container can hold {six} orange slices. If acompany had {forty-one} orange dlicesto put || 4

into containers, how many more slices would they need to fill up the last container?

41
AN

3) Jerry wastrying to beat his old score of {thirty-three} pointsin avideo game. If he scores
exactly {four} points each round, how many rounds would he need to play to beat his old

score?

AN
r A

4) A vat of orange juice was {forty-nine} pints. If you wanted to pour the vat into { nine}
glasses with the same amount in each glass, how many pints would be in each glass?

49
AN

5) A movietheater needed {forty-three} popcorn buckets. If each package has{six} buckets

init, how many packages will they need to buy?

43

N
r N

6) A machinein acandy company creates { thirty-five} pieces of candy aminute. If asmall
box of candy has {three} piecesin it how many full boxes does the machine makein a
minute?

N
r R

Answers
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C:# Division With Tape Diagram Name:

Answer Key

Solve each problem. Answers
1) Atthecarniva, {seven} friends bought { fifty-five} tickets. If they wanted to split all the
tickets so each friend got the same amount, how many more tickets would they need to 1. 1
buy?
55 2 1
AN
r N
| | | | | | | I 3 9
2) A container can hold {six} orange slices. If acompany had {forty-one} orange dlicesto put || 4 5
into containers, how many more slices would they need to fill up the last container?
41
A 5 8
r N
| | | | | | I 6 11

3) Jerry wastrying to beat his old score of {thirty-three} pointsin avideo game. If he scores
exactly {four} points each round, how many rounds would he need to play to beat his old

score?

AN
r A

4) A vat of orange juice was {forty-nine} pints. If you wanted to pour the vat into { nine}
glasses with the same amount in each glass, how many pints would be in each glass?

49
AN

5) A movietheater needed {forty-three} popcorn buckets. If each package has {six} bucket
init, how many packages will they need to buy?

43

N
r N

6) A machinein acandy company creates { thirty-five} pieces of candy aminute. If asmall
box of candy has {three} piecesin it how many full boxes does the machine makein a
minute?

N
r R

S
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C:# Division With Tape Diagram Name:

Solve each problem.

1) A vat of orangejuice was{fifty} pints. If you wanted to pour the vat into {six} glasses
with the same amount in each glass, how many pints would be in each glass?

50
AN

2) A movie store had { thirty-nine} movies they were putting on { seven} shelves. If the owner || 4

wanted to make sure each shelf had the same number of movies how many more movies
would he need?

39

AN
r A\

| | | | | I

3) A box of computer paper has { twenty-three} sheetsleft init. If each printer in a computer

lab needed {four} sheets how many printers would the box fill up?

23
VAN

4) Theroller coaster at the state fair costs { eight} tickets per ride. If you had {forty-three}

tickets, how many tickets would you have left if you rode it as many times as you could?

43
VA

5) Edward hasto sell {forty-five} chocolate barsto win atrip. If each box contains { four}
chocolate bars, how many boxes will he need to sell to win the trip?

45
r N

6) Nancy had {thirty-four} photos to put into a photo album. If each page holds {six} photos,

how many full pages will she have?

Answers
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C:# Division With Tape Diagram Name:

Answer Key

Solve each problem. Answers
1) A vat of orangejuice was{fifty} pints. If you wanted to pour the vat into {six} glasses
with the same amount in each glass, how many pints would be in each glass? 1 8
50
g N\ ~ 2 3
o 3 5
2) A movie store had { thirty-nine} movies they were putting on { seven} shelves. If the owner || 4 3
wanted to make sure each shelf had the same number of movies how many more movies
would he need? 12
5
39
r /\ N
6 )

| | | | | I

3) A box of computer paper has { twenty-three} sheetsleft init. If each printer in a computer

lab needed {four} sheets how many printers would the box fill up?

23
VAN

4) Theroller coaster at the state fair costs { eight} tickets per ride. If you had {forty-three}

tickets, how many tickets would you have left if you rode it as many times as you could?

43
VA

5) Edward hasto sell {forty-five} chocolate barsto win atrip. If each box contains { four}
chocolate bars, how many boxes will he need to sell to win the trip?

45
r N

6) Nancy had {thirty-four} photos to put into a photo album. If each page holds {six} photos,

how many full pages will she have?
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